\Orjin Automotive




(Orjln Automotive

i

oL CODE Description FEATURES ol CODE Description FEATURES
code code

FI138

00325

Tie rod end

Steering & Suspension Parts

93804059

1903652

M14x1,5-Female-
M16x1,5-80 mm

FI118

IVECO

TURBO DAILY 4WD (01/1987-04/1999)

3 00318

00318

Axial joint

9983325

GRINTA (01/1987-04/1999)

—"

3 00318

M16x1,5-
M16x1,5-311 mm

n FI139

00326

Tie rod end

500310933

n PJ096

00983

Ball joint

93807545

360828

M18x1,5

2



N\ Orjin Automotive IVECO

Steering & Suspension Parts

DAILY 1l (05/1999-04/2006)
@ DAILY IV (05/2006-03/2012)
DAILY V (09/2011-02/2014)
-3 <
? e

) u

- (5 01822] (7 00323] [ 7 00323] (5 01822] -

0 L]

& Sy S

(5 01522] (5 01522)

e
N
L A

E , :
F, 5 4 r
0 ) ‘ | “A ‘

)
=
6




(Orjin Automotive IVECO

sieerng & Suspension Farts DAILY Il (05/1999-04/2006)
“ DAILY IV (05/2006-03/2012)

DAILY V (09/2011-02/2014)

old oid
E code CO8E e mm FEATHRES E code SO8E s mm FEATERES
02950 | Stabilizer link-L so0agagze | 1OntM10¢1.25-50 Fit40-L | ooggz | Control am 500334717 Lower
mm complete-L
- 02951 | Stabilizer link-R - so03g3g7s | | OMM10¢1.25-50 Fl40-R | oogog | Conrol am - 500334716 Lower
mm complete-R
. 03446 | Stabilizer link . 504092614 | 130 mm 16,5-20 . Qogs | COMIOL A W0 | oa70g0y | 500344887 PART .
ball joint-L OF 1
- 03390 | Stabilizer link - 504092615 | 130 mm 16,5-22 - 02955 | CONIOl A WO go0raqyp | 500344888 PART :
ball joint-R OF 1
) M14x1,5-Female- Control arm w/o 500334717 PART
H 01822 Tie rod end 42534911 M16x1 5-81 mm H - 02952 ball joint-L - OF 1 -
FH39 | 0036 | Tie rod end - 500310033 - : oogs3 | Control am wfo - 500334716 PAR] -
ball joint-R OF 1
_— MH16x1,5- N 500379801 PART
FH25 | 00323 | Axial joint - 200508 | e ol mm - | o404 Ball joint 500379802 oF 3 -
. 500316264 B 500334716 PART
n - 05861 Axial joint - PART OF = n - 02405 Ball joint - OF 3 Lower
Fii41-L | ooazg | UPPer Comtiol Ffomraent | 500344887 - : 05862 | Ball joint - 504212584 -
arm complete-L
Fii4-R | oogso | UPPer Control 1 goneranny | 500344888 - - 02956 Bushing 504039506 | 500339201 -
arm complete-R

4]



(Orjm Automotive IVECO

Steering & Suspension Parts

. DAILY VI (2014 =>)

P e e e e e e e e
code code
05917 Tie rod end 42569563
05919 Ball joint - 5801378063 -
- 05918 Axial joint - Zis
PART OF

orjinautomotive.com |5




